
		
			[image: ETOAJ.jpg]
		

	
		
			
				[image: ]
			

		

		
			Research Article

			Volume 3 Issue 1 - November 2019

			DOI: 10.19080/ETOAJ.2019.03.555608

		

		
			The Sharp Radius of the Neutron, Proton, Electron, Critical Photon and the Atomic Nucleus

			Yin Yue Sha1* and Michael Atiyah2

			1Dongling Engineering Center, Zhejiang University, China

			2School of Mathematics, University of Edinburgh, UK

			Submission: October 24, 2018; Published: November 01, 2019

			*Corresponding author: Yin Yue Sha, Dongling Engineering Center, Ningbo Institute of Technology, Zhejiang University, China

			Abstract

			According to the Classical Electron Orbital Radius and the force equilibrium relation before the disintegration of the neutron, we can calculate the sharp radius of the neutron; According to the density of nucleus and the sharp radius of the neutron, we can calculate the sharp radius of the electron; According to the sharp radius of the electron and the force equilibrium relation that electron with the Critical Photon, we can calculate the sharp electron radius of the Critical Photon; From the density of nucleus, we can obtain the mass of the Critical Photon; From the light velocity, we can obtain the energy of the Critical Photon; From the Planck’s constant, we can obtain the frequency of the Critical Photon; From the light velocity, we can obtain the wavelength of the Critical Photon; We discover that the wavelength of the Critical Photon is in the peak position of the solar spectrum energy radiation. Coulomb’s law stands to the world of elementary particles in the way that Newton’s laws of classical mechanics stand to the macroscopic world.
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			Opinion

			One: The disintegration of the neutron

			The neutron can spontaneously produce disintegration and turn into the proton, at the same time send out an electron and 

some matter. According to the force equilibrium relation, before the disintegration of the neutron, there was the formula as follows (Figure 1): 

			[image: ]

			[image: ] ---- (1)

			Where the K is the electromagnetic constant; the [image: ] is the electric charge of the proton; the [image: ] is the electric charge of the electron; the Mn is the mass of the neutron; the [image: ] is the mass of the proton; the Rn is the radius of the neutron; the [image: ] is the light velocity. 

			The total mass for releasing from neutron disintegration is [image: ] as follows:

			[image: ] [image: ]

			where the Mn is the mass of the neutron, the Mp is the mass of the Proton and the Me is the mass of the electron [1].

			Two: the radius of the neutron

			From formula (1), we can acquire the calculation formula of the neutron radius,

			[image: ]	 (2)

			According to exact physical constants from modern science, we take the following values:

			[image: ]from formula (2), we can calculate the radius Rn of the neutron:

			[image: ] (3)

			Three: the frequency of the neutron

			From the radius of the neutron, we can compute the frequency of the neutron:

			[image: ]  (4)

			Four: the density of the neutron

			From the radius of the neutron, we can compute its density:

			[image: ]   (5)

			Five: the radius of the proton

			According to the density of the neutron, we can calculate the radius of the proton:

			[image: ]  (6)

			Six: the radius of the electron

			According to the matter density of neutron, we can calculate the radius of Electron:

			[image: ] 	(7)

			Seven: the radius of the atomic nucleus

			According to the radius of the neutron and the density of matter, we can calculate the radius of the atomic nucleus: 

			[image: ]	(8)

			where the Ma is the mass of the atomic nucleus and Ra is the radius of atomic nucleus.

			Mu (Mu = 1.660538782(83) ×10^-27 kg) is the atomic mass unit and Ru is its radius.

			Ru = (Mu / Mn) ^ (1/3) ×Rn = 1.11017826(48) ×10^-15 m    (9)

			Ra = Ru × A^ (1/3)				       (10)

			where the A is the nuclear number of the atomic nucleus.

			Eight: the physical constants of the critical photon

			[image: ]

			According to the radius of the electron and the density of the Neutron, we can calculate the mass of the Critical Photon and other Physical Constants (Figure 2): 

			2×Ro^2 + Ro^2 (Ro/(Re+2Ro)) ^2 + ٤×Re×Ro + ٢×Rceo×Ro + Re^2 = 0		(11)

			Rceo = K×Qp×Qe / (Me×C^2) = 2.8179402894(58) fm    (12)

			Rcp = 2×Ro; Ro = 0.0015674688 (15) fm;

			Radius: Rcp = 0.0031349376 (29) fm; Mass: Mcp = 9.347546 	(38)×10^-36 kg; 

			Energy: Ecp = 4.200578(17)×10^-19 J; Energy: Ecp = 2.621795(11) eV;

			Frequency: Fcp = 6.339471(26)×10^14 Hz; W avelengh: λcp = λsha = 472.8982(20) nm;

			Apply the Wien’s law we can obtain: 

			Tsha = 2897768.5(51) nm·K /λsha = 6127.679(37)K	(13)
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Figure 1: Proton with electron
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Figure 2: The Physical Constants of the Critical Photon
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